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QUESTION 1

Given the code fragment: 

What is the result? 

A. invalid 

B. An exception is thrown at runtime. 

C. NULL 

D. Compilation fails. 

E. blank 

Correct Answer: B 

A java.lang.NullPointerException is through at line switch(str) {. 

 

QUESTION 2

Given the incomplete pseudo-code for a fork/join framework application: 
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And given the missing methods: process, submit, and splitInHalf 

Which three insertions properly complete the pseudo-code? (Choose three.) 

A. Insert process at line Z. 

B. Insert process at line X. 

C. Insert submit at line X. 

D. Insert splitInHalf at line X. 

E. Insert process at line Y. 

F. Insert splitInHalf at line Y. 

G. Insert submit at line Z. 

Correct Answer: BFG 

B: If the size is small enough then process the work. 

D: If the size is not small enough then slit up the wok in half. 

G: Submit the two split up pieces of work recursively. 

Note: Your code should look similar to the following pseudocode: 

Reference: https://docs.oracle.com/javase/tutorial/essential/concurrency/forkjoin.html 

 

QUESTION 3
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Given the code fragment: 

What is the result? 

A. A compilation error occurs. 

B. 20.0 

C. 10 

D. A NumberFormatException is thrown at run time. 

Correct Answer: A 

The compilation fails due the to following line: codes.replaceAll(uo); 

Incompatible types: Double cannot be converted into integer. 

 

QUESTION 4

Given the code fragment: 

What is the result? 

A. A compilation error occurs. 

B. An IllegalStateException is thrown at run time. 

C. Tom, Hello Joe, Hello 

D. Tom, Joe, 

Correct Answer: C 
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Output: Tom,Hello Joe,Hello 

 

QUESTION 5

Which is true the regarding the java.nio.file.Path interface? 

A. Implementations of this interface are not safe for use by multiple concurrent threads. 

B. The interface extends the WatchService interface. 

C. Implementations of this interface are immutable. 

D. Paths associated with the default provider are not interoperable with the java.io.File class. 

Correct Answer: B 

This interface extends Watchable interface so that a directory located by a path can be registered with a WatchService
and entries in the directory watched. 

Reference: https://docs.oracle.com/javase/7/docs/api/java/nio/file/Path.html 
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